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6.1 — Systems of Equations Date: @ock:

6.1 Systems of Equations Unit Review

What you need to Things to remember Examples
know & be able to
do ;
1. Solve a system Make sure each 1. Solve the system. 2. Solve the system.
of linear equations | equation is solved for ’
by graphing. Y. y=2x+3 Xx=y=8 -9 ’-j = ><-)-8
, y=2x=5 y=—x
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3. Solve the system of equations. 4. Solve the system of equations.
x y=x—4| y=—-x 2 _
5 = . x y=gx y=-x-7
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2. Solve asystem | Use only when one 5. Solve the system. 6. Solve the system.
of linear equations | variable isolated
using substitution. y3-5x+9 y =—8x =16
' 10x =7y =-18 y
4 10x-Ty=-18 |43 _5lu=-8x-1b
Y=-5x +9 _ ‘ '3 -
T o (-Bx+q) =B 5 c|3x-5 =-Bx-lb
\j"’5(| Qﬂ@f 5)("63:'{83' ‘l>~ \ I "5—‘:-—“40
ﬁ=—5+0] YSx -3=-18 53’3—5 =11
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3. Solve a system To eliminate a variable | 7. Solve the sysfen7'. 8. Solve the system.
of linear equations | using addition or x—y=11 gh/c =20-8y > ‘fx—f'tgj =
using elimination. multiplication one 2x+y=19 74 +2y=-30 \

coefficient must be ¥ i
positive and one must 3x = 30 Ht +8y =20
be negative. 3 - _3 6
x = | 0 ~MHkx 12y =
J
. = -10

= || ]Oj |
) i g 1
(IO) \> e 227_0 ==30 (1‘ D

- - ~y —2Z =-%0
" -Yx = -1%
%=1
9.Solve the system. 10. system.
x+3y=12 2x¢3h=1Z —%)—»e +|laj=0

w)* lsx -3 = 34 3@;4}&'« “2oq =42

1x =5 ~ Iy =42
X = 3 j: -3
2)('*‘3'32\2 -Bx-%éj':o
2.(3) t3y =12 (3 2\i 3% - B(-3)- 0 (8 ,3)
b +gj=12 )TN gt 24 =0 )
. . ZU - (\0 —3): :*2-.-’
j:l x=Q
;t).lssfzﬁ-;:siol Types of TN S:)luﬁFoOr;S:e"’ o 11. Solve the szs;eﬁr;_w\:_Q 12. isgv_eati figtirgq 3y =18
ti 22X +YE +y= -
. 5@22!%’?2 the " @6 Tl =1
);( . SY<-:1irr’1nt2rc:ep1‘s ,_(j: 2x -2 _2X+ = l 0=0
are different 4 _2); ‘
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5. Systems with
Real World
Scenarios

Define your variables

Determine if slope

intercept or stondcrdut"

form is best

Set up your equations
and solve using
elimination or
substitution.

Break Even Point:
where the cost equal
the income

13. One high s eedj\r‘%{emef provider“
has ags0 set up fe costs $30 ¥
per monfh. Another provider has,

ond costs $40 per month.y=®eq
In how many months will bo

providers costs the same2 What will
that cost be?

j: R0 x +50
kj’: L4Ox +0

€owers for his nother. Roses cost

14. Sam spent $24.75 to buy 12

-

$2.50 edch and daisies costs $1.75 ¥
ch._How-many of each fléwer
type did he purchase?

X=roses
tj = d‘-l‘s i es

\(’t—a = |2—'9 :j: lZ.—)L

30)(-\'5-0 :L—}Oqc-{o
SO =\0x

\

5=x ]/

\j:: HOx
\j: L{O(S)
V= 200

(5, 200)

—
-_—

y=l2-x  y=12-S5 =

]

N

~

5. Explain what a break-even point
is.

e and cost
k-even point?

What will the inc
always be at the br

o

What is the profit at the break-even

1¥. As a fundrdiserfor a band trip,
AHS plans to sell hats with the schg
logo. The company producing jHe
hats charges $240 for the desjgn and
set up plus $8 per hat. The Jgand
members will sell the hatsfor $12
each. What is the bregk-even point2
what will the cost gid income be?
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e ]
;n\’f:Y Multiple Choice Practice -\,:.lcv}“
17. Taxi Company A chorges Ius -' i Ny
b Y-V per mie. Taxi Company B charges($5/plu¢ $0.25 j i
system best represents this problem? ra(-" @p . pelimje. Which
_ Y=0.5x +4 e
() Y=dx+05 9 0.2Cx +S (b))  Y=4x+025
Y =5x+0.25 ' Y=5x+0.5
@ Y=0.5x+4 (d)  Y=05x+5
G Y=025x+5 Y=0.25+4
L S W’Lﬁ
18.  The Fun Guys game rental store chg&gg; n annual fee of@al@o per gom@ The Game
Bank charges an annual fee o@ for unlimited gante rentals. For how many game rentals will the cost
‘be the same at both stores2 What is the cost? e =5.50x+ 5
Y= 0x+ b0 = e
(@) Month 4; $27 Month10:$60 5 gpx +5 = (b0
(c)  Month 8: $49 (d)  Month 14, $82 _
: C.Cx = 55
(16, €0) = 1D
[ A
19 i 51
: 4Xx -4y =-16 Y-
Solve the system of equations: , 4 Hx =4 j ~-le X -2y=-12
21D~ 2unfy 29 4
- 2__‘)’( = % (Li)_ 2 = = ‘ 7’
g e b) 24 x=4 J
(4.8) @ (48 -2y° -l
(4,8) J
20. The graph to the ”gm shows the eestof iwo phons Usce the graph below to answer the question.
plans. How many minutes does a person need to call ) .
each month so that Plan B is the less expensive plan to Phone Costs
) . , 30 Plan A
(a) Less than 10 minutes '
— 30 '
(b) Less than 40 minutes *# —~— Plan B
Z 20
@ More than 40 minutes o (L'O, 20)
10 &
(d) More than 30 minutes but less than 40 minutes
0 20 40 60 80 100 120
Monthly Minutes
- . thoreds
21. A student store sold a total of 55 shirts fo old were either red or white. If the red shirts

$620,/The shirts s
sold for $12 each and the white sold for $10 eaek, how many of each color shirt were sold?
—————

=0
s _ 2% 1 10(g5~x) =20 L
Y4y = (5'5 -2 \A = x L + “lox = 20 %=35
\2x *?OH =0 2 ok = 2
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(@) 20red, 35 white tj: 55-35 (b) 27 red, 28 white

(c) 28red, 27 white 35 red, 20 white
j: 70 x o
(35.720)

22. Consider each system of equations below. Just by looking at the equations, tell how many solutions the
system will have and explain why. NOT MULTIPLE CHOICE!

= Y=—] y= @
o.{;=@% b. y=i\@ . C. y=%+@ d.
. 5 @(
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